1/0 do/dA

Ratio to OPAL

10

1071

0.5

91 GeV ee y*/Z (Hadronic)
| T T T T I I l ' | g
— 39
— 0>
— ] (¢)]
— —1=
— —r~
B s
B ] N
S)
—
- —m
— —Ho
L 1=
— e
=3 Elm
— o
~ <
L 1M
B o
o
(49)
- —
. m OPAL —%
—  --3-- Herwig 7.2.0 default -
—  —a— Pythia 8.170 default dc
R ¢ Sherpa 1.3.1 default N §
L —1n
S
o
= =
| | | | , | | | | , | | H -
:l I I I I l I I I I l:
- 42
s Co .
B e L AR O ¢ N
PR v R VU SRR S T T El-------~---========-~= -D
o D —\ 1
- |
| —0.5
| 1 1 1 1 | 1 1 " 1 1 |
0 0.05 0.1



	Contents
	Page 1


